Oaumnuana «JlomoHocoB» mo mHpOpMaTUKE
2023-2024 y4ebublii 10o/]. 3aKJIIOYUTEJILHBIA Ty
Pabora yuacTnuka c id 3agsku 1259027, norunom inf24f 214

CBOILHbIﬁ NTOTr 110 BCEM 3aJavYaM B HpOBepﬂmmeﬁ cucremMe

Run ID Time User name Problem Language Result Tests Score
48 0:25:23 inf24f_ 214 1 g++ 0K 28 100

199 1:16:33 inf24f 214 2 g++ 0K 28 100

576 3:39:43 inf24f_ 214 3 g++ Partial solution 9 24

360 2:23:35 inf24f_214 4 g++ Partial solution 20 95

402 2:38:38 inf24f 214 5 g++ Partial solution 20 90

409 TexHMYecKux 6ainos

68 mToroBmx 6ainnoB
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[1] #include <iostream>
[2] #include <algorithm>
[3] #include <math.h>

[4] #include <vector>

[5] #include <set>

[6] #include <map>

[7] #include <string>

[8] #include <queue>

[e]

[18] using namespace std;
[11]using 11 = long long;
[12]using 1d = long double;
[13] vector <11> dp(34);
[14] map <11, 11» dpil;

[15]

[16] 11 F(11 x){

[17]
[18]
[19]
[20]
[21]
[22]
[23]
[24]
[25]
[26]
[27]
[28]
[29]
[3e]
(311}
[32]

if (dpi[x] != @) return dpl[x];
11 cx = x;
vector <11> pp(34);
for (11 i = 33; i»=0; i--){
if (x >= dp[i]){
x-=dp[i];
pp[i] = 1;
J
T
11 res = @;
for (11 i=0; i<34; i++) if (pp[i] == 1) res++;
if (res % 2 == 8) dpl[cx] = 1;
else dpl[cx] = 2;
return dpl[ecx];

[33] void solve(){

[34]
[35]
[36]
[37]
[38]
[39]
[46]
(411}
[42]
[43] int
(4414
[45]
[46]
[47]
[48]
[49]
[50]
(511}

11 i, n, p, ans = @;
cin>>n;
for (i=0; i<n; i++)q{
cin>»p;
if (f(p) == 1) ans++;
¥

cout<<ans;

main()

ios::sync_with_stdio(false), cin.tie(8), cout.tie(@);
11 t = 1;

/fcin>>t;

dp[@] =1, dp[1] = 2, dp[2] =
for (11 i=4; i<34; i++) dp[i]
while (t--) solve();

4, dp[3] = 8;

dp[i-1] + dp[i-2] + dp[i-3] + dp[i-4];
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[1] #include <iostream>

[2] #include <algorithm>

[3] #include <math.h>

[4] #include <vector>

[5] #include <set>

[6] #include <map>

[7] #include <string>

[8] #include <queue>

(o]

[18] using namespace std;

[11] using 11 = long long;

[12] using 1d = long double;

[13] map <char, vector <11> > k;

[14] vector <char> b = {'W', 'R', '0', 'Y', 'G','C', 'B', 'V',
[15]1 11 ii = -1;

[16]

[17] bool f1(11 j, 11 ans){

[18] for (11 i = @; i<2000; i++){

[19] if (k[b[4]] » k[b[ans]]) return true;
[20] if (k[b[j]] < k[b[ans]]) return false;
[21] 1

[22] return false;

[231}

[24]

[25] void f2(11 F){

[26] 11 p, ost;

[27] for (11 i = 1999; i»@; i--){

[28] ost = k[b[J11[i] % 2;

[29] p = k[b[311[i] / 2;

[3e] k[b[JII[1i] = ost;

[31] k[b[J11[1-1] += p;

[32] 1

[331}

[34]

[35] void f3(string& s, 11 j){
[36] 11 kk = 0;

[37] for (ii = ii+1l; di<s.size(); ii++){
[38] if (s[ii] == 'Q") f3(s, j+3);
[39] else k[s[ii]]1[j]++;

[48] kk++;

[41] if (kk == 8) return;

[42] 1

(431}

[44]

[45] void solve(){
[46] 11 i;

[471] string s;
[48] cin>>s;
[49] vector <11> ex(2000);

[50] sort(b.begin(), b.end());
[51] for (i=0; i<9; i++)k[b[i]] = ex;

[52]

[53] f3(s, @);

[54]

[55] for (i=0; i<9; i++) (f2(i));

[56]

[57] 11 ans = @, 1st = 1;

[58] for (i=1; i<9; i++) if (f1(i, ans)) ans = 1i;

[59] cout<<b[ans]<<endl;

[60] cout<<k[b[ans]][@]<<".";

[61] for (i=2; i<2000; i++) if (k[b[ans]][i] == 1) 1st = i;
[62] for (i=1; i<=lst; i++) cout<<k[b[ans]][i];

(631}

[64]

[65] int main()

[66]{

[67] ios::sync_with_stdio(false), cin.tie(®), cout.tie(8);
[68] 11 t = 1;

[69] while (t--) solve();

(701}
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[1] #include <iostream>
[2] #include <algorithm>
[3] #include <math.h>

[4] #include <vector>

[5]1 #include <set>

[6] #include <map>

[7] #include <string>

[8] #include <queue>

[e]

[18] wusing namespace std;
[11] wsing 11 = long long;
[12] wusing 1ld = long double;

[13] vector <str‘ing> mp = {u[]n, uin, u:i-{u‘1 “i((‘lj quJ ||I(l|,

[14]

[15] woid fl(string s, vector <11>& nw){
[16] for (int i=0; i<100; i++) nw[i] = 8;
[17] 11 p = @, ind = -1, ost;

[18] for (int j = ©; j<s.size(); j++){
[19] if (s[3] == '"[') p = @, ind++;
[20] else if (s[j] == ']") p = ©;
[21] else if (s[j] == 'i"){

[22] if (ind »= @) nw[ind] = p;
[23] p=1;

[24] ind++;

[25] T

[26] else if (s[j] == 'I'){

[27] if (ind »= @) nw[ind] = p;
[28] p=4;

[29] ind++;

[3e] T

[31] else if (s[5] == '3'){

[32] if (ind »= @) nw[ind] = p;
[33] p=7;

[34] ind++;

[35] }

[36] else if (s[j] == "3"){

[37] if (ind »= @) nw[ind] = p;
[38] p = 18;

[39] indt+;

[40] }

[41] else p++;

[42]

[43] if (ind »= @) nw[ind] = p;

[44]

[45] for (int i=8; i<99; i++){

[4B] p = nw[i] /12;

[47] ost = nw[i] % 12;

[48] nw[i] = ost;

[49] nw[i+l] += p;

[5e] 3

[51]

[52] }

[53]

[54] bool f2(vector <11>& lst, vector <11>& nw){
[55] for (int 1 = 99; i»= @; i--){

[56] if (nw[i] » 1st[i]) return true;

"I, ", "),

"3))",

wamn

J
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[57] if (nw[i] < 1st[i]) return false;

[58] }

[59] return true;

[ee] 7

[61]

[62] bool f3(wvector <11>& lst, wector <11>& nw){
[63] for (int 1 = 99; i>= @; i--){

[64] if (nw[i] < 1st[i]) return true;
[65] if (nw[i] > 1st[i]) return false;
[66] ¥

[67] return true;

[68] ¥

[62]

[7@] void solve(){

[71] 11 n, i, j, p, ind, amn = @, amx = @;
[72] string s;

[73] cin>»n;

[74] vector <11> mn(108);

[75] vector <11> mx(10@);

[76] vector <11> nw(108);

[77] cin>>s;

[78] f1(s, mn);

[79] f1l(s, mx);

[8@] for (i=1; i<n; i++){

[81] cin>>s;

[82] fi(s, nw);

[83] if (f2(mx, nw)) mx = nw, amx = 1i;
[84] if (f3(mn, nw)) mn = nw, amn = 1i;
[85] ¥

[86]

[871] if (f2(m¢, mn)) amn = n-2, amx = n-1;
[88]

[89] amn++, amx++;

[90] if (amn > amx) swap(amn, amx);

[91] string ans = "";

[92] ans = mp[amn%12];

[93] if (amn /12 != 8) ans += mp[amn/12];
[94] cout<<ans<<endl;

[95] ans = mp[amx%12];

[96] if (amx 12 1= 8) ans += mp[amx/12];
[97] cout<<ans;

[98]

(991 &

[100]

[121] int main()

[1e2] {

[183] ios::sync_with_stdio(false), cin.tie(8), cout.tie(8);
[104] 11 & = 1;

[1685] while (t--) solve();

[1e6] }
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[1] #include <iostream>

[2] #include <algorithm>
[3] #include <math.h>

[4] #include <vector>

[5] #include <set>

[6] #include <map>

[7] #include <string>

[8] #include <queue>

(o]

[18] using namespace std;
[11] using 11 = long long;
[12] using 1d = long double;
[13] vector <vector <11> > a;

[14]

[15] void f1(11 %, 11 vy, 11 z, 11 n, 11 i, 11 p, vector <vector <vector <11> > >& dpl){
[16] for (int px = -1; px<=1l; px++){

[17] for (int py = -1; py<=1; py++){

[18] for (int pz = -1; pz<=1; pz++){

[19] 11 nx = x + px, ny = y + py, Nz = z + pz;
[2@] if (nx >= @ && nx<n && ny>=0 &R ny<n && nz>=0 && nz<n){
[21] 11 np = p + a[nx][i];

[22] if (ny != nx) np += a[ny][i];

[23] if (nz != nx & &% nz != ny) np += a[nz][i];
[24] dpllnx][ny][nz] = max(dpl[nx][ny][nz], np);
[25] ¥

[26] i

[27] }

[28] 1

(291}

[3e]

[31] void solve(){

[32] 11 nJ m) j‘J j, pJ XJ y) ZJ nXJ ny, nz) npj

[33] cin >> n >> m »> x >» y >> z;

[34] a.resize(n, vector <11> (m));

[35] for (i=0; i<n; i++){

[36] for (§=0; j<m; j++){

[371] cin>»a[i][]]1;

[38] }

[39] }

[4e] p = a[x][e];

[41] if (v != z) p += alyl[e];

[42] if (z '=x & z !=y) p += a[z][@];

[43] vector <vector <vector <11> > > dp(n, vector <vector <11> > (n, vector <11> (n, -1)));
[44] dplx][y1lz] = p;

[45]

[46] for (di=1; i<m; i++){

[471] vector <vector <vector <11> > > dpl(n, vector <vector <11> » (n, vector <11> (n, -1)));
[48] for (x = 8; x<n; x++){

[49] for (y=0; y<n; y++){

[5@] for (z=0; z<n; z++)9

[51] if (dp[x]lyllz] '= -1){

[52] p = dplxI[y1[z];

[53] fl(x, v, z, n, i, p, dpl);

[54] 1

[55] ¥

[56] ¥

[57] 1

[58] dp = dpl;

[52] 1

[6@] 11 ans = 8;

[61] for (x = @; x<n; x++){

[62] for (y=8; y<n; y++){

[63] for (z=0; z<n; z++){

E64} if (dplz]llyllz] != -1) ans= max(ans, dp[x][y][z]);
65

[66] 1

[67] }

[68] cout<<ans;

[69] }

[7e]

[71] int main()

(7214

[73] ios::sync_with_stdio(false), cin.tie(®), cout.tie(@);
[74] 11t = 1;

[75] while (t--) solve();

[76]1
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[1] #include <iostream>
[2] #include <algorithm>
[3] #include <math.h>

[4] #include <vector>

[5] #include <set>

[6] #include <map>

[7] #include <string>

[8] #include <queue>

9]

[18] using namespace std;
[11]using 11 = long long;
[12]using 1d = long double;
[13] map <char, 11> nk;

[14] map <char, 11> k;

[15]
[16] void solve(){

[17] 11 i, dl =9, 1, r, al= @, ar = 1el8;
[18] string s, t, as;

[19] cin>>s>>t;

[28] for (1 = @; i<t.size(); i++){

[21] nk[t[i]]1++;

[22] if (nk[[i]] == 1) dl++;

[23] }

[24] 1= o;

[25] for (i=08; i<s.size(); i++){

[26] k[s[i]]++;

[27] if (k[s[i]] == nk[s[i]]) d1--;
[28] if (dl == @) break;

[29] T

[38] ro=1i;

[31] if (r == s.size()){

[32] cout<<"";

[33] return;

[34] T

[35] for (1=1; 1<s.size(); 1++){

[36] k[s[1-1]]1--;

[37] while (r + 1 < s.size() &% k[s[1-1]] < nk[s[1-1]1]){
[38] P+t

[39] K[s[r11++;

[48] }

[41] if (k[s[1-1]] »= nk[s[1-1]11){
[42] if (r-1+1 < ar - al + 1){
[43] al = 1;

[44] ar = r;

[45] s

[46]

[47] else break;

[48] T

[49] for (i=al; i<= ar; i++) cout<<s[i];
[5e]}

[51]

[52] int main()

[5311

[54] ios::sync_with_stdio(false), cin.tie(8), cout.tie(@);
[55] 11 t = 1;

[56] while (t--) solve();

[571}
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